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+ ?EXERCISE 5.1
| Fill in the blanks: e
H 1. 8 (1x6 = 6) 6+6 = 1%\
L 2%6 = 12) 12+6 =
L () (3x6 = 18) 18 + 6 = i
L gd)) (4x6 = 24) +6 = 4
o e) (5x6 = 30) 30+ 6 =
@ )  (6x6 = 36) 36+ 6 = f__
E (8) (7x6=42) 2+6 = 7
E (h) (8x6 = 48) 8+6 = g8
- i) (9x6 = 54) 54+6 = 9
;;__t () (10x6 = 60) 606 = 10
2@ (1x7=7 7+7 = _1_
] b) (2x7 = 14) 47 = _2
ER © (3x7=21) 21+7 = Lig:
mE (d) (4x7 = 28) 28:7 = _Y4
il €)  (5x7 = 35) 3B+7 = L5
B o )  (6x7 = 42) 27 = 6
— (8) (7x7 = 49) 49-7 = _T1_
4 4 (h)  (8x7 = 56) 567 = _Q
] i) (9x7 = 63) 637 = _9
/2§ (10x7=70) 707 = _10
| | : ,
e} 3. (@8 (1x8=g .
7 (b) (2x8=1)6) 12;2 P
& (©)  (3x8 = 24y 24;8 ) 2
i (d)  (4x8 = 3y 32;8 ) 3
O i@ s o
(6x8 = 48 e sl
(8 (7x8 = 56 §2f8 = b6
() (88 = gy i
(1) (9x8=72) 64 +8 = L
() (10x8 < g 72+8 = 9
; 801-8 = JIL
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(a)
(b)
(c)
(d)
(e)
(f)
(8)
(h)
(1)
()
(a)
(b)
(c)
(d)
(e)
(£)
(8)
(h)
(i)

() (10 x10 = 100)

(1x9 = 9
(2x9 = 18)
(3%9 = 27
(4x9 — 36)
(5x9 = 45)
(69 = 54)
(7x9 = 63)
(8x9 = 72)
O x9 = 81)
(10x9 = 90)
(1x10 = 10)
(2x10 = 20)
(3> 10 = 30)
(4x10 = 40)
(5% 10 = 50)
(6 x 10 = 60)
(7 x 10 = 70)
(8 x10 = 80)
(9 x 10 = 90)

9:9
18 + 9
27 + 9
36 + 9
45 + 9
54 + 9
63 + 9
72 + 9
81 + 9
9 + 9

10 + 10
20 + 10
30 = 10
40 - 10
50 = 10
60 =+ 10
70 + 10
80 + 10
90 = 10

100 = 10

| [N | Y | N | A | AN | E A | A | R |

| | | I | A | I | |
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EXERCISE=52
__Divide —
1. 6 )3 96 | & |
-536\!, 2. 6)1188 368;2
<L B T 1
00 043 By
_.L'g =,
00 00

Quoti ' :
ent 1s 66_ Quotient is l 98 Quotient i Lﬁ
1S

39 | 53
4. 7)22 4 5. 7)371 6. 7)4 83

211 25
014 zi '%lL
“14 21 ot
00

00 00

Quotient is 32 ~ Quotientis 53 Quotient is69_
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Quotient is 5 g

10. 92?3

063
00

16

Quotient is [ 2 J

-304

13. 10)7 6 0

060
-60

OO0

Quotientis 6

11.

- 14,

fli__

-484
024

U‘l
o
4:.

75

Quotient is 63

9)585

94y

0ys
-45
00

Quotient is 653

—
()

O’:@&@'F
OO ®
O o
_O©

s

Quotient is 3%

19
9. 8)632
bV
032
-32
00

e T —

Quotient is 9

12. 9)7 02
-63Y
032
Bt A0
00

Quotient is _:l'_S_

15. 10

O w
& o

0

W
oSO

O

o

Quotient is 93
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EXERCISE-5-5
__%: S s ea s A AL T T S e —————————
- Divide: _ 129
f 1. 6)195 2, 6735—351\ 3. 6)777
| -183 -304 -6Y
| 015 031 Eﬁj;“
| =42 30 -192
| 03 01 | 051
54
03
Quotient is 32 Quotientis 95 _ Quotientis |29
Remainderis )3 Remainderis 01 Remainder is 03
. 32 yﬁér 124
. 7)229 5. 7)4 Sf 6. 7)8L72
9214 49 -4y |
049 _ 034 | 14
-14 28 14
05 ' 06 032
28
oL
Quotient is 32 Quotientis &4 Quotientis |24 ’

Remainderis 005 Remainder is 06 Remainderis QY }

A




l

4 Quotient is _F0)
- Remainderis _()3

]10. 9)57 0
| -54y

030
=27

03

Quotientis §3
‘Remainderis ()3

10)6 7 4

1 13.

Quotientis Q F
Remainderis 04

11.

14.

Quotient is £
Remainder is ()6

9)6 5 1

-63+
21

03

1S
r;;

Quotient is i&
Remainderis 3

10)7 5 3
-10

053
-90
03

——

Quotientis 5
Remainderis )3

12.

15.

f

Quotient is J_Q;}
Remain%er is 03

9J9 7 0
A
10
6%
0%

| OO

Quotientis |0F
Remainderis Q3 |

10)8 7 6

30V
016
)
06

Quotient is 8];

Remainder is ( 26
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_®_3ans@§~hquio_ae._equaﬂ\tj‘bv.uncheqf_i_nio_l

| hunches-}\ Hnm.mam:thﬂSes_mmi_b_ejied__in_ead
bunch*

. Numbes of s05€8= 12
> Number of bunches=9
—_meﬁﬁ_QﬁWGSBS_mUSLbﬁiLG&_]ﬂﬁada_bmc@ q

9)_‘

_@_qD_P.QmLaM_;ﬁEJLDAM in 'Packefs of [0 IDcmc each,
_HnmaMPackeE Can he Packed 9

ans Numbes oP pens = Q .
Numbey of oens that ead Dmﬁ?oﬂz Pawe = |0
_be ' packed- 902104

: = Qs 0)q0
90
0o

Fu ase $ packects Com b2 pasked:

_@% bakexu 644 Ram_Cakes weze Packe] in pocKets
L F B pan cakes each Haw n'nanj; Dacke%g

Mmd Q.

2 uaan_e{ pan queq 644
B 'MbﬁL—Qﬂ, 6”14 %a:cl@,imeacﬁ_fzad@ﬁs
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| 00 !
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| | J

umbes O‘F,}‘l{‘ems—‘-‘ HUg

Nombes oF bags = 8

Number ofF items thalt must be 54

Dacked in  Cach baqg = 3 )443
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OMs
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| here_aye SE item  That yust be packed
| I eadLbog- !

.KSL&S_Pamib' DJLS&QLMbe_equdlﬁ,PackeL
1‘ m___&]rlmmbas_l:fm»_manﬁ_p aintY byusheg
l :JJQLQ packed im_ cachY nouc}u?

;_Hmuhnﬂﬁ_ inthsucheS Wexe left bohind 7 m

> Numbes oF poimtbaushes= 635
e ro%ﬁauche&- 6 = —

5 alnt_byyShes (ye cred In
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1. Divide: V|

Ayq 99 46 Lk S

@ 6)846 () 7)693 (c)glgas (d) 9,693 —

*6 f -63% - 63V —

063 04% 063 —

—25 =63 -43 =05 =

006 0o 00 00 —

0 e D R P

2. 812 sweets were equally packed in 7 boxes. How many sweets w rere
packed in each box? 1;3 {"W'(“e _

3. There are 786 balls. They have to be packed into packets o "9 each.__
How many packets can be made? How many balls will be left behmdr

Numbes of Packei;s Cam be made- 386+9=¢3 9)186 81
_03 ball will

e B
4. Divide the sum of 235 and 525 by 8. 3)1.67_%@5 O_eé_ ksl
360 +Q= «%_Am___ . ki

5. Subtract 225 from 975 and divide the answer by 10. 10) 1 50 (15

Subt¥action=975-225-350 194,
35010 35 D% e
6. Multiply 135 by 4 and divide the product by 9. 0o e
MOILIPIY = 135K = 54O Ggie <o i
540+9=60 it
ivide & 8 by, g and round the quotient to nearest tens. |

|7 Digaas 390 ! 10§30 (89 —

¢ -neavestl0y 40 Q@qn+|p = Q9 T

1 8. Round 791 to nearist Eundreds and divide the result by 7. "96%'
| ES] . 3007

e L TF

=y, g=p  1300(M
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